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138. If 75% of a number is 120, what is the number?
Round to one decimal point if needed.
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14. Put the fractions in increasing order:
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15. If the temperature is 50° Fahrenheit, what is it
in degrees Celsius? Use C = §(F — 82).
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17. If 32 out of 40 students passed a class, find the
exact percentage of students wh
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18. Given AC is parallel to A’C’, and that sides
AC = 10cm, A'C’ = 6cm, and AB = 12cm,

find the length of A'B.
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19. A right triangle with hypotenuse of 16cm has
one 9cm leg. How long is the other leg?

1L
”% e

20. If a 2m tall man casts a 3m shadow, how tall
is a tree that casts a 5m shadow?
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